THE BIOENERGY EFFICIENCY OF THE APPLICATION OF VARIOUS FORMS AND DIFFERENT DOSE OF PHOSPHORUS FERTILIZERS (IN THE EXAMPLE OF COTTON, CORN AND VEGETABLE CROPS)

¹MANSUR MASHRABOV and ²ALISHER MAXMATMURODOV

^{1, 2} Faculty of Agrobiology, Samarkand Branch of Tashkent State Agrarian University, Samarkand, Uzbekistan.

Abstract

The bioenergetic efficiency of phosphorus-containing fertilizers based on Kyzylkum phosphates under the conditions of pasture and typical gray soils of the Zeravshan Valley has been determined. The highest bioenergy efficiency was found when cultivating cotton on pasture soils is 175 kg/ha of phosphorus (P_2O_5) against the background of $N_{250}K_{125}$, when using 120 kg/ha of phosphorus (P_2O_5) against the background of $N_{240}K_{100}$ when cultivating corn on eroded soils. On typical gray soils, the use of phosphorus-containing fertilizers in vegetable growing is bioenergetically inefficient.

Key words: Zerafshan valley, Kyzylkum phosphorite, nitrogen phosphorus fertilizer (NPhF), nitrocalcium phosphate fertilizer (NCPhF), PS-agro, cotton, bioenergetic efficiency, efficiency factor (EF).

INTRODUCTION

Phosphorus is one of the most important nutrients for crops and plays an important role in increasing the growth, development, productivity and fertility of the soil. [4, 11, 23].

Since phosphorus reserves are very low in various types of soils around the world, phosphorus fertilizers play an important role in ensuring crop yields and global food security. Global demand for crops is likely to increase by 100-110% from 2005 to 2050, and global food security will require improved soil fertility and agricultural intensification [30], which will lead to increased demand for phosphate fertilizers. All phosphate fertilizers are produced from phosphate rocks (phosphorite and apatite), and it is assumed that by 2100 60% of this resource base may be depleted [38]. Given the lack of substitute products for phosphate fertilizers and the limited global supply of phosphate rock, which can increase the cost of phosphate fertilizers, it is important to increase the use of phosphate fertilizers [7].

Large reserves of about 8 phosphorite deposits have been discovered on the territory of the Republic of Uzbekistan. These include Gulyab (Surkhandarya region), Karakalpak, Central Kyzylkum (Navoi region) phosphorites of the Sariosi region and others. [9, 22, 27, 33].

These phosphorites contain very little phosphorus, between 10 and 20%. There is a lot of information about the production of various phosphorus-containing fertilizers from local phosphorite raw materials based on various new innovative technological

processes that improve the production of fertilizers that are not inferior to previously used phosphate fertilizers. [15, 22, 24, 29, 31, 34, 39, 40, 41].

Today, 2.5-3.5 times less phosphate fertilizers are used in agriculture than the scientifically based norm, or 30-40% of agricultural phosphate fertilizers are provided on average. [2, 32].

A total of 1.45 million tons of mineral fertilizers (including: nitrogen fertilizers – 1105.4 thousand tons, phosphorus fertilizers - 133.4 thousand tons, potassium fertilizers - in 2021, increasing the production of mineral fertilizers in the country by 274.0 thousand tons. 216.0 thousand tons) are produced and delivered to agriculture¹.

Although the application of phosphate fertilizers improves the phosphate regime of the soil, the coefficient of absorption of phosphorus by plants from fertilizers remains low. One of the main reasons for this is the high content of calcium and magnesium cations in the absorbing complex of soils common in Central Asia [3, 13, 36, 37,]. This is also associated with the deposition of the reaction of the soil environment (pH) by calcium ions at high values, sorption by oxides (hydroxides) of iron and aluminum at low pH values [25], or immobilization by microorganisms [10].

The discrepancy in the change in soil phosphorus content after phosphorus application can be due to confusing factors such as soil types, soil physico-chemical properties, tillage and fertilization practices, especially phosphate fertilizer rates. [6].

The study of agricultural varieties, technologies for their cultivation, specific agrotechnical measures, norms of mineral fertilizers and the bioenergetic efficiency of their application in various proportions and norms is gaining popularity [17, 43]. Determining the use of energy technologies in the production of agricultural products and determining their energy efficiency when using mineral fertilizers to ensure energy efficiency is one of the important conditions. [16, 21, 40].

The importance of bioenergy assessment increases even more in the conditions of agricultural acceleration, as it increases the amount of energy consumption in the cultivation of crops, which in turn requires a complete calculation of the energy intensity of all technological processes. The proposed method allows you to accurately calculate and uniformly express the direct energy costs of technological activities, means of production, as well as the energy intensity of the product in energy equivalent. [17].

This, in turn, leads to the identification and introduction of energy-saving technologies, as well as an increase in energy efficiency in crop production. [8, 12, 28; 44].

In solving the above problems, i.e., the effective use of phosphate fertilizers to obtain high-quality crops, maintain and increase soil fertility, the determination of the bioenergetic efficiency of the applied phosphorus fertilizers is of scientific and practical importance.

MATERIALS AND METHODS

One of the urgent tasks is to study and improve the efficiency of mineral fertilizers, especially phosphorus, used in agriculture. In the country in 2009-2022, scientific research is being carried out to determine the effectiveness of the use of phosphorus-containing fertilizers for crops in various soil and climatic conditions.

Field and laboratory experiments are carried out in the conditions of the meadows of the Zeravshan valley, typical gray soils. In field experiments, the bioenergetic efficiency of types and norms of phosphorus-containing fertilizers obtained on the basis of local phosphorites is studied to maintain and increase soil fertility, along with obtaining high-quality crops of cotton, vegetables and potatoes, and corn.

Field experiments are carried out by "Methods of growing and vegetative experiments of cotton in growing conditions" [19], "Methods of field experiments" [5], "New phosphorus fertilizers based on Central Kyzylkum phosphorites and recommendations for their use in agriculture" [35].], "Methodology for determining the structure of the crop and the quality of grain" [18]. "Methods of field experiments in horticulture" [14], soil and plant analysis "Methods of agrochemical, agrophysical and microbiological research in polyvinyl chloride areas" [20], "Agrochemical methods of soil research" [1], "Practicum on agrochemistry" [26].

The bioenergetic efficiency of the obtained results was carried out according to "V.G.Mineev" [21].

The effective energy of application of mineral fertilizers (energy-consuming or bioenergetic efficiency) (η) was determined by the following formula.

$$\eta = \frac{V_{fO}}{A_O}$$

Here,

ŋ - effective energy or bioenergy efficiency FIK, unit.

 $V_{\rm fo}$ - the amount of energy in the main by-product obtained at the expense of mineral fertilizers, Mj.

A_o- energy consumed for fertilizer application, Mj.

$$V_f = U_p * R_i * l * 100$$

Here;

V_{fo} - amount of energy in the main product (in terms of economic value), Mj.

 U_{p} - additional yield at the expense of fertilizer, ts/ha.

 R_i - dry matter conversion unit of agricultural crops, (R_i , l taken from the table).

l - Total energy in 1 kg of dry matter, Mj.

100 - the conversion factor per centner per kilogram.

The energy consumption of mineral fertilizers was determined using the following formula.

$$A_{O} = (H_{N} * A_{N}) + (H_{P} * A_{P}) + (H_{K} * A_{K})$$

Here;

 H_{N} , H_{P} , H_{K} - actual application of nitrogen, phosphorus and potassium fertilizers (as an active substance), kg / ha.

 A_N, A_P, A_K - Energy consumption per 1 kg of nitrogen, phosphorus and potassium fertilizers, per unit.

RESULTS AND DISCUSSION

The bioenergetic efficiency of the use of phosphorus-containing fertilizers on the hayfields of the Zeravshan Valley was 1.18 for the cotton variety Omad in the variants of applying N₂₅₀K₁₂₅ kg/ha. The highest efficiency was observed on the variants of applying phosphorus-containing fertilizers in the form of 175 kg/ha P₂O₅. The subsequent increase in fertilizer rates led to a decrease in bioenergetic efficiency and turned out to be almost equal to the background N₂₅₀K₁₂₅ (Table 1).

Table 1:Bioenergetic efficiency of phosphorus-containing fertilizers in cotton growing (BEF)

No	Varieties	Additional yield obtained at the expense of fertilizer application, ts/ha	The energy in the additional product, Mj	The energy expended for the application of fertilizers, Mj	Bioenergetic efficiency (BEF)
1	N ₂₅₀ K ₁₂₅ - background	14.9	26817.02	22687.7	1.18
2	Background + P ₁₇₅ ammophos	23.3	41935.34	31700	1.32
3	Background + P ₁₂₅ NPhF	17.8	32036.44	29125	1.09
4	Background + P ₁₅₀ NPhF	20.9	37615.82	30412.5	1.23
5	Background + P ₁₇₅ NPhF	23.3	41935.34	31750	1.32
6	Background + P ₂₀₀ NPhF	21.7	39055.66	33037.5	1.18
7	Background + P ₁₂₅ NCPhF	18.6	33549.94	29175	1.14
8	Background + P ₁₅₀ NCPhF	21.3	38335.74	30462.5	1.26
9	Background + P ₁₇₅ NCPhF	23.7	42655.26	31750	1.34
10	Background + P ₂₀₀ NCPhF	22.7	40855.46	33087.5	1.23

The introduction of phosphorus-containing fertilizers NPhF and NCPhF in the form of 175 kg/ha P_2O_5 against the background of $N_{250}K_{125}$ when cultivating the "Omad" cotton

variety under conditions of magnesia-carbonate saline meadow soils is bioenergy efficient. The highest bioenergy efficiency was 1.32–1.34 (Fig. 1).





Analysis of the data obtained in the study of the bioenergy efficiency of the types and norms of phosphorus-containing fertilizers in the conditions of typical gray soils of the Zeravshan Valley is presented in Table. 2. In the $N_{240}K_{100}$ variant, the bioenergy efficiency was 2.11, while the bioenergy efficiency also increased with the increase in the rates of various phosphorus-containing fertilizers. Phosphorus-containing fertilizers against the background of $N_{240}K_{100}$ were 2.24-2.33 in the variants of application at 90 kg/ha, and in the variants with an increased fertilizer rate of 120 kg/ha, the bioenergetic efficiency was almost the same 2.33-2.34. An increase of 150 c/ha led to a decrease in productivity.

Table 2: Bioenergetic efficiency of different types of phosphorus fertilizers
and norms of corn cultivation (BEF)

No	Varieties	Additional yield obtained at the expense of fertilizer application, ts/ha	The energy in the additional product, Mj	The energy expended for the application of fertilizers, Mj	Bioenergetic efficiency (BEF)
1	N ₂₄₀ K ₁₀₀ - background	30	45408	21614	2.11
2	Background + P ₉₀ ammophos	39.1	59181.7	26249	2.25
3	Background + P ₁₂₀ ammophos	42.8	64782.1	27794	2.33
4	Background + P ₁₅₀ ammophos	43.2	65387.5	29339	2.23
5	Background + P ₉₀ polyammophos	40.4	61149.4	26249	2.33
6	Background + P ₁₂₀ polyammophos	42.9	64933.4	27794	2.34
7	Background + P ₁₅₀ polyammophos	43.5	65841.6	29339	2.24
8	Background + P ₉₀ supraphos	38.8	58727.7	26249	2.24
9	Background + P ₁₂₀ supraphos	42.6	64479.4	27794	2.32
10	Background + P ₁₅₀ supraphos	42.9	64933.4	29339	2,21

In the conditions of typical gray soils of the Zarafshan valley, the application of phosphorus-containing fertilizers at 120 kg/ha against the background of $N_{240}K_{100}$, and among the applied fertilizers, polyammophos fertilizers were found to have the highest bioenergetic efficiency (Fig. 2). In the variants applied to 150 kg/ha of phosphorus-containing fertilizers, it was equal to and less than the variants applied to 120 kg/ha (Fig. 2).



Figure 2: Bioenergetic efficiency of different types and norms of phosphorus containing fertilizers in corn cultivation, (BEF)

The highest bioenergetic efficiency in the cultivation of white cabbage in the conditions of typical gray soils of the Zarafshan valley was obtained in the variant applied to the type and norms of phosphorus-containing fertilizers $N_{200}K_{90}$ kg/ha. Phosphorus fertilizer and its norms do not show bioenergetic effect in the cultivation of white cabbage. Phosphorus fertilizers were found to have the same (1.26-1.28) bioenergetic effect in the variants applied per 100 kg/ha. Decrease in bioenergetic efficiency was observed with increase of NCPhF oil standards by 140 and 180 kg/ha (Table 3)

No	Varieties	Additional yield obtained at the expense of fertilizer application, ts/ha	The energy in the additional product, Mj	The energy expended for the application of fertilizers, Mj	Bioenergetic efficiency (BEF)
1	N200K90 – background	168.1	24206.4	18067	1.34
2	Background + P100 (ammophos)	204.9	29505.6	23217	1.27
3	Background + P60 (NCPhF)	179.1	25790.4	21157	1.22
4	Background + P100 (NCPhF)	203	29232	23217	1.26
5	Background + P140 (NCPhF)	208.2	29980.8	25277	1.19
6	Background + P180 (NCPhF)	216.1	31118.4	27337	1.14
7	Background + P100 (PS-agro)	206.2	29692.8	23217	1.28

Table 3:Bioenergetic efficiency of mineral fertilizers in the cultivation of white cabbage (BEF)

The lowest bioenergetic efficiency was obtained against the background of $N_{200}K_{90}$ in the variant applied NCPhF fertilizer 180 kg / ha, while the highest efficiency was obtained in the variant applied $N_{200}K_{90}$ kg/ha. Bioenergetic efficiency is inversely proportional to the increase in fertilizer standards. (Fig. 3)





Data on white cabbage cultivation were also obtained in onion cultivation under typical gray soil conditions, and the highest bioenergetic efficiency was 1.88 in the variant applied to $N_{200}K_{90}$ kg/ha (Table 4).

No	Varieties	Additional yield obtained at the expense of fertilizer application, ts/ha	The energy in the additional product, Mj	The energy expended for the application of fertilizers, Mj	Bioenergetic efficiency (BEF)
1	N200K90 – background	236.7	33990.1	18067	1.88
2	Background + P100 (ammophos)	284.7	40882.9	23217	1.76
3	Background + P60 (NCPhF)	265.9	38183.2	21157	1.8
4	Background + P100 (NCPhF)	278	39920.8	23217	1.72
5	Background + P140 (NCPhF)	289.5	41572.2	25277	1.65
6	Background + P180 (NCPhF)	292	41931.2	27337	1.53
7	Background + P100 (PS-agro)	276.1	39647.9	23217	1.71

Table 4: Bioenergetic efficiency of different phosphorus fertilizers in onion cultivation (BEF)

Bioenergy efficiency also declined as NCPF increased fertilizer rates. Against the background of the lowest value of $N_{200}K_{90}$, NCPF turned out to be 1.53 in the variant used at the rate of 180 c/ha. Fertilizers NCPF and PS-agro were equally effective and amounted to 1.71-1.72 in the variants applied at the same dose, and ammophos fertilizer - 1.76 when applied at the same rate (Fig. 4).





CONCLUSION

A high additional yield and high energy efficiency (1.32-1.34) can be achieved by applying 175 kg/ha of phosphorus-containing fertilizers (ammophos, AFU and NCPF) obtained on the basis of Kyzylkum phosphorites against the background of $N_{250}K_{125}$ under cotton crops in meadow soil conditions Zeravshan valley. On typical gray soils

with various phosphorus-containing fertilizers (ammophos, polyammophos and suprefos), when cultivating typical gray soils, the high bioenergy efficiency of wool in variants using norms of 120 kg/ha was 1.32 - 1.34, when using polyammophos fertilizer 90 kg/ha and the coefficient efficiency 1.33. High efficiency is achieved when applying ammophos and suprefos fertilizers up to 120 kg/ha and polyammophos fertilizers up to 90 kg/ha. Phosphorus-containing fertilizers are bioenergetically inefficient in the cultivation of vegetables (white cabbage and onions) on typical gray soils. However, against the background of the obtained additional yield of N₂₀₀K₉₀, it is recommended to apply phosphorus-containing fertilizers (ammophos, NCPF and PS-agro) at a rate of 100 kg/ha.

References

- 1. Agrochemical methods of soil research. M.: Nauka, 1975. P. 160-190.
- Avliyoqulov A.E. Prospects of cotton and grain growing in the world and Uzbekistan: yesterday, today, tomorrow // "Problems of cotton and grain development": Proceedings of the international scientificpractical conference. - Tashkent, 2004. - P. 22-34;
- 3. Bai Z., H.Yang X., Li H., Zhou B., Shi X., Wang B., Li D., Shen J., Chen Qin W., Oenema O., Zhang F. The critical soil P levels for crop yield, soil fertility and environmental safety in different soil types. Plant Soil. 2013. -№ 372. P. 27-37.
- 4. Cordell, D., White, S., 2014. Life's bottleneck: sustaining the world's phosphorus for a food secure future. Annu. Rev. Environ. Resour. 39, P. 161–188.
- 5. Methods of conducting field experiments. Tashkent. 2007. 147 p.
- Damona, P.M., Bowden, B., Rose, T., Rengel, Z., 2014. Crop residue contributions to phosphorus pools in agricultural soils: a review. Soil Biol. Biochem 74, 127–137.). Reddy, D.D., Rao, S.A., Singh, M., 2005. Changes in P fractions and sorption in an Alfisol following crop residues application. J. Plant Nutr. Soil Sci. 168, P. 241–247.
- 7. Dawson C.J., Hilton J. Fertilizer availability in a resource-limited world: production and recycling of nitrogen and phosphorus. Food Pol., 36 (2011), pp. S14 S22.
- 8. Duxanin Yu.A., Savich V.I., Zamarayev A.G. Ekologicheskaya osenka vzaimodeystviya udobreniy i meliorantov s pochvoy. M.: FGNU. «Rosinformagrotex». 2005. 234 s.
- 9. Haydarov M., Aliyev A., Tadjiev S. New fertilizers and crops // Agriculture of Uzbekistan. Tashkent, 2004. -№ 6. P. 25-26. Hinsinger, P., 2001. Bioavailability of soil inorganic P in the rhizosphere as affected by root-induced chemical changes: a review. Plant Soil 237 (2), P. 173–195.
- Hou, E., Luo, Y., Kuang, Y., Chen, C., Lu, X., Jiang, L., Luo, X., Wen, D., 2020. Global meta-analysis shows pervasive phosphorus limitation of aboveground plant production in natural terrestrial ecosystems. Nat. Commun. 11, - P. 1–9.
- Kryukov A.G. Dynamics of mobile phosphorus in ordinary chernozem under spring wheat in a long-term stationary experiment / A.G. Kryuchok, V.I. Elizarov, R.R. Abdurashitov // Agrochemistry. 2013.
 No. 3. P. 32-36.
- 12.Leytim A.B., Mikkelson R.L. The nature of phosphorus in calcareous soils // Better Crop. 2005. №89. P. 11-13;

- 13.Litvinov S.S. Methodology of field experience in vegetable growing. M:. Russian Agricultural Academy, 2011. 650 p.
- 14.Mamasolieva L.E., Myachina O.V., Aliev A.T., Yakovleva I.A., Kim R.N., Isakova D.Kh. Changes in the processes of mineralization and humification in gray earth soil under the influence of new phosphate fertilizers // Scientific and practical bases for increasing soil fertility: Proceedings of the International Scientific and Practical Conference. - Tashkent, 2007. Part I. - P. 122-125.
- 15.Mashrabov M.I., Makhmudov O.O. Determination of the bioenergetic efficiency of fertilizers obtained on the basis of Kyzylkum phosphorites. Innovative developments in agriculture. Materials of the scientific-practical conference of senior researchers - researchers and young scientists. Part 1 -Samarkand, 2015. - P. 31-33.
- 16.Method for determining the energy efficiency of the use of mineral, organic and limestone fertilizers. -M.: 1996. - 50 p.
- 17. Methods for determining the structure of the crop and grain quality. Moscow, 1989, -P 290.
- 18.Methods of cultivation and vegetative experiments with cotton in growing conditions. Tashkent. 1981. 140 p.
- 19.Methods of agrochemical, agrophysical and microbiological research in the cotton field. T. 1963. 440 p.
- 20. Mineev V.G. Agrochemistry. Moscow: Kolos Moscow State University, 2004. 720 p.
- 21. Mirzakulov H., Erkaev A. New technological process of activation and processing of Central Kyzylkum phosphorites // Bulletin of Agriculture of Uzbekistan. Tashkent, 2002. No. 3. P. 32-34.
- 22.Mogollón J.M., Beusen A.H.W., van Grinsven H.J.M., Westhoek H., Bouwman A.F. 2018. Future agricultural phosphorus demand according to the shared socioeconomic pathways. Global Environmental Change, 50, P. 149–163.
- 23.Niyozaliyev B.I., Tillabekov B.X., Ibragimov N.M., Qodirkhodjayeva M.F., Mirzayev L.A. Organomineral and new types of phosphorus fertilizers based on Kyzylkum phosphorites, terms of application of biohumus in cotton and efficiency of feeding and irrigation regimes of winter wheat // Scientific and practical bases of increasing soil fertility : Proceedings of the international scientific-practical conference. - Tashkent, 2007. - P .276-280.
- 24.Pizzeghello, D., Berti, A., Nardi, S., Morari, F., 2011. Phosphorus forms and P-sorption properties in three alkaline soils after long-term mineral and manure applications in north-eastern Italy. Agric. Ecosyst. Environ. 141, 58–66.
- 25.Workshop on agricultural chemistry (under the editorship of V.G.Mineeva). M.: MGU Kolos, 2001. 688 p.
- 26.Rayimberdiyev H., Niyozaliyev B. The effect of nitrofos on cotton yield // Agro ilm. -Tashkent, 2010. № 2 (14). P. 21-22.
- 27.Sunyaev Kh.Kh., Slipes A.A., Kolonkova A.A. Bioenergetic efficiency of barley cultivation under conditions of sewage sludge application. Collection of scientific papers. Natural science and humanism. Volume 3, No. 1 / Ed. N.N. Ilyinsky. – Tomsk. 2006. - P. 110 - 112.
- 28. Tillabekov B.Kh., Aliev A.T., Kim R.N., Myachina O.V., Kurbanov I.M. Dynamics of changes in nutrients in the soil when using nitro-calcium-phosphate fertilizers // Scientific and practical bases for improving soil fertility: Proceedings of the International Scientific and Practical Conference. - Tashkent, 2007. Part I. - p. 270-273.

- 29. Tilman D., Balzer C., Hill J., Befort B.L. Global food demand and the sustainable intensification of agriculture. Proc. Natl. Acad. Sci. Unit. States Am., 108 (50) (2011), pp. 20260-20264.
- 30.Todzhiev S.M. A new generation of phosphorus-containing fertilizers to improve soil fertility // Problems of development of cotton and grain: Proceedings of the International Scientific and Practical Conference. Tashkent, 2004. P. 51-54.
- 31.Todzhiev S.M. New fertilizers based on Kyzylkum phosphorites // Water- and resource-saving agricultural technologies in agriculture of the Republic of Uzbekistan. Tashkent, 2008. P. 266-269.
- 32.Todzhiev S.M. New fertilizers from Kyzylkum phosphorites // Scientific and practical bases for improving soil fertility. Materials of the international scientific-practical conference. - Tashkent, 2007. Part II. - P. 379-382.,
- 33.Todzhiev S.M., Weiss T., Niyazaliev B.I., Tukhtaev S., Akbarova M.G. Influence of azosuperphosphate on the yield of cotton // Scientific and practical bases for improving soil fertility: Proceedings of the International Scientific and Practical Conference. - Tashkent, 2007. Part I. - P. 382-385.
- 34. Tukhtaev S., Nurmatov Sh.N., Nazarov R.S., Mirzazhonov G.M., Toshkoziev M.M., Zelenin N.N., Akhmedov Zh.Kh., Todzhiev S.M., Weiss T P., Tillabekov B.Kh., Aliev A.T., Niyozaliev B.I., Ibrosimov N.M., Boirov A.J. New phosphate fertilizers based on phosphorites of the Central Kyzylkum and recommendations for their use in agriculture. T.: "HILOL MEDIA", 2006. 16 p.
- 35.Uzokov P., Artikov T. Chemical and agrochemical properties of soils of the experimental farm and measures to improve them // Scientific and practical bases for increasing soil fertility: International scientific and practical conference. Tashkent, 2007. Part I. P. 182-187.;
- 36.Uzokov P.Yu. The role of carbonate saline soils in the classification // Proceedings of the V Congress of the Society of Soil Scientists and Agrochemists of Uzbekistan. Tashkent, 2010. P. 114-118.
- 37.Van Vuuren D.P., Bouwman A.F., Beusen A.H. Phosphorus demand for the 1970–2100 period: a scenario analysis of resource depletion. Global Environ. Change, 20 (3) (2010), pp. 428-439.
- 38. Vays T.P., Shukurova S.S., To'xtayev S, Niyozaliyev B.I., Tojiyev S.M. Mahalliy xom ashyo asosida yaratilgan fosforli o'g'itlar tuproq unumdorligini va hosildorlikni oshirish omilidir // Paxtachilik va Donchilikni rivojlantirish muammolari. Xalqaro ilmiy-amaliy konferensiya materiallari to'plami. -Toshkent, 2004. - B. 54-57.
- 39.Hayitov M., Mashrabov M. Bioenergetic efficiency of phosphorus-containing fertilizers // Agro ilm. -Tashkent, 2015. - №1 (33). -P. 14-15.
- 40.Xayitov M.A., Mashrabov M.I. Norms of effective use of phosphorus-containing fertilizers // Agriculture of Uzbekistan. Tashkent, 2017. №1. P. 48.
- 41.Xayitov M.A., Mashrabov M.I. Phosphorus condition of soil a factor of fertility // Agriculture of Uzbekistan. Tashkent, 2017. -№ 3. P. 53.
- 42.Ereshko A.S., Khronyuk V.B., Tatarkin S.V. Economic and bioenergetic efficiency of the separation of winter barley varieties into different fonax of mineral nutrition // Scientific journal of KubGAU, 2012. -No. 75 (01), -P. 1-11.
- 43.Ermoksin Yu.I., Bobrenko I.A. Optimization of mineral nutrition in agricultural crops (based on "PROD"): Monograph. Omsk: FGOU VPO. OmGAU, 2015. 284 p.